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ADVANCED COST AND MANAGEMENT
ACCOUNTING
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3:13A (Old)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

1. Answer the following : 1x5=5

(a) ‘Engineered costs are uncontrollable’
—Comment on this statement,

(b) What is the meaning of ‘Budget key

Factor’ ?
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(i) Period costs
(i) Discretionary costs
(i) Unexpired costs

(iv) Sunk costs.
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Give an

(@) «Conforming to 2@

necessarily good an

pudget is not 1

Elaborate the s

(b) ExXP

cost conce
making
Marginal cost concept

(V)
(i1) Opportunity cost concept.
(c) Y Co. Ltd. is experiencing difficulties in
due to recession.

selling its products
The annual loss is

The management inte
the operation for a pe

swer to the following qu

lain the contribution o)

estions.
3x5=15

pudget is not
d departure from a
ecessarily bad”.
tatement.

f the following

pt in managerial decision

Rs. 2,00,000.

nds to suspend
riod of one year.

t case, it is estimated that :

In tha
(i) Fixed cost could be reduced to Rs.
1,20,000 per annum.
(ii) Employee retrenchment cost would
amount to Rs. 50,000.
(iit) Maintenance of plant would
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amount to Rs. 20,000 per annum.
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Bud

Answer the following :

(a) Write critical notes on : (any two)
‘ ~ 6+6
(@) Life cycle costing

(ii) Activity based costing .

(iii) Management Audit

(b) SK Ltd. furnishes the following
information relating to production of

three items :

A, Band C
' Ny 8¢ C
Material per unit (kgs) 20 12 30
Machine hours Per unit 3 5 4
Selling price Per unit (Rs) 050 200 400

(units) 1,500 1,000 750

Maximum available machine hours for
production of all three items is 9,200
hours. Machine hour cost pPer hour is
Rs. 10-00.

Maximum available raw materials
50,000 kgs- Cost of raw material per

Maximum Possible Sales

kg is Rs. 10.

You are required to determine the

product-Mix to give the highest
attainable profit. 12
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Rs 30,000 of fixed cost and
Rs. 175,000 of assets can be avoided.
The manager of division x would have
no control over the proceeds from the
sale of the asset and is judged primarily
on his rate of return. The firms existing
assets are of Rs 8 lakh.

(@) Should the manager of division x
transfer its product at Rs 18 to

division y ?

(b) What is the lowest price that the
division x should accept ? Support
your decision with detailed

calculations. 8+4=12
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